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10. Assuming 7 is a natural number, the maximum 7 value that satisfies +/ 73+Vn<10 is
(A)725 (B)726 (C)727 (D)728
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15. Let P be the center of circle (x+2)*+(3+3)?=1. Draw a tangent line to the circle from a point
0O(1, 1) outside the circle. The tangent point is R. What is the area of triangle POR?
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21. If a=9874x9877, b=9875x9876, which of the following is correct?
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22. As shown in the figure, the quadrilateral ABDE is a rectangle and the

quadrilateral FCDE is a square. CD=DE=6 cm, then what is the area of the

colored triangle AGE in square centimeters? (A)12 (B)14 (C)16 (D)18
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24. How many zeros will appear in the product of 999...999 x999...999? (¢ & 3 % i# 0)
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